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import sys
sys.path.append("statlib")
from multi import std_res

std_res(dat)
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dat = [[1, 6, 4, 4],
[3! 2! 5! 2]!
(4, 3, 3, 61,
(2, 1, 3, 51,
[5, 4, 7, 41,
[3, 4, 2, 311

import sys




sys.path.append("statlib")
from multi import std_res

a = std_res(dat)
a['lyll]

array([4, 2, 6, 5, 4, 3])

a["fittedvalues"]

array([3.4695122 , 3.69512195, 4.56707317, 3.99390244, 3.68292683,
4.591463411)

a["residuals"]

array([ 0.5304878 , -1.69512195, 1.43292683, 1.00609756, 0.31707317,
-1.59146341])

a["stdresiduals"]

array([ 1.17901766, -1.06417379, 0.94322759, 0.87038828, 0.39393939,
-1.17901766])




